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. Test RE\I‘FEW for 2™ Six Weeks Test 2018 Block: Date:

Fillin the blank with the correct vocibulary w

7 What word is used to describe the 3 in the expression; 4x + 3y -7

2. A(n) ' is made up of numbers, variables,
and at least one operation,

3. The part of an expression that does NOT contain a variable is the

4. A decimal that stops like 0.75 is an example of a decimal.

5 Part of an expression separated by an addition or subtraction sign is a(n)

6. A letter that stands for a number is a(n)

7. To simplify an expression you must combine all the

£ double the sum of nine and a number

9. two inches greater than photograph length

10. the quotient of three and a number

11. eight less than the product of 5 and a number

12. sixteen increased by four fimes the square of a number

Simplify each.algebraic expression or fraction: below.- Circle your final answer.- - ,
13 5w—y +Tw—2y 74 —40 —9b 4 32 — (—6b) 15. 5f + 3[2{f — 7} + 4}

16 3~9c—7a+2(c—-7)+ua 17 9x—(—4—-x)+18 18 at+7a—14+a*~a+3

79. a) Fta D 20. D to F: 18.076 21 a) Fto D 32

b) Terminating or Repeating b) Terminating or Repeating




Tdenti w—
= .03 24. —92
Rational . Irrational Rational Trrational

Rational Irrational

25 54 and 90

26, 112 and 204

,128,and 56

28  14x — 42 29 9-2la 30 24x® + 60x
31 Which of the following hasa | 22 02x+28=—4 33 3x+5=8-3(4~x)
solution of -12?
a —-b6x=2
h, 18—x =30
x
c —=-3
~4
d x~{(-8)=-20
54 E-16=1 35, 9x — (—6) = 39 36 x+3.=-83
37 6x—5+x=2x+10 38 _42:_84-;"6 ' 39 4lx+2)+9=2x+17+2x
3x—26 X714 13%-2
40. - = -2 41, - = —1 42 3x+2x = .




